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AR E R RS RN RE 41 %5 A B B B AR IE S .

—. FRANR

AZBRRPES TRR(EAERTAZNEHRAENEEFRLEFT TERES
MEE BABEHEMARD —REAREREREL LRFEE.

=, FRAMER

AEANBNESZZENET MR GES REMEHEELEAR X — B 5 MY
SPRPREIEEARE S, KRB #HE — K FEERA

=.EZRAXERE

FRX AN EREHE S A DB RSN EER BFECERIOMNE
PE(BIFZ) . HiXTE B (AT RO A RTMERNEHAE .

S —FB 4 g W 3 BR A W55 A B A T T XA L AR B SCHIRE T . W AR R
B 120 7. X8 2T ME UL AR ME AR EANST I E, HICR
FAHEAZROIB“RNCR” 3 400 AR H L 3 PR N A 3 B (R AR ) b 19 “ 32 B ¥

o ] o




mRBHEERAEEBESHAE

KPS 2 WMUT VR . AR08 S8 1550, KRR R 15 44

B ARG, WX A B B AR . W AR AER) F
MREEMRITAENEMAE . 8o 08E 8400 152, WHKEE Y 15 4540,
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O THRERMBEENEEMRE;

@ EEERPHFLMEREY;

Q HMER LT XWEBEXR;

@ REHF M BIEHATHER,;

© THEEKE K. SEMME;

© MRHE_E T SCIE 7 28 % A R B R

@ TRERBSIE;

HATE B

I H A B4 350 . MR ET 2 40 4.

SR P4 B R0, WK A 2B B R R OGBS . FTiEs b a7
B, A — AT NLAENE (AL 50%); BT REIFIL R F(ERER K
“HENCR7A 93 400 W TEE . AT 5B ST H 20% . WK E] K 25 4h4h.

BHMANEE/DOFER, WXL EEENAE X FR, EEE R KRR B E
RIS RMESCFIIRE S . A 4805 15% . MR E 2 25 404,

A ZERMAIE (AR R K B 8] 4 Bl 4n F RT3

FE | Wk E as 3L g 2 AR HArH | B A4
I W ) 2 1 1~15 XHE R 3 E2UE/ 108 Lo - 15% | 15 434
I WHHELGM | 16~35 AL R AT AR OB B 15% | 15 4p4h
I PIGEEEME | 36~60 |iER,OE MR AT | STESE B AR | 35% | 40 44
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=.ZXAFARERT

R RN E R, BTSN GRS R BRCRIOME
VE(RRILERH) . R E RCEAER N B RFTME RN SMAR .

530 43K T 7 B #% (Listening Comprehension) , 3 % A= B2 f#% BT U7 (R &3 4F 45
e [6] 25 14 B 77 B AR 145 45 i B0 B 0 RN BRE RO RE 1 . T 0 B K 7B O 8 43 Bk 100
F. W AMELL B %A A S RBRN AR E. AICR T (A ZR)F RN
£7B %% 2 500 7 (6 BB » S PR P9 A v Je (S A SR ) o 9 “ 32 B Y B R B 31 G 22 R T 1R A9
Ju .

A T4 4B AT 15% . KA ] R 15 S

5 IR RIE L (Vocabulary and Structure) L IR 2 AR i AR IR FE B AR
86 F7 . T B BR T B AT Rk ) b i 3R]0 % 7B 4% (2500 1)) A Bk 45 MR T AL Y
EHAE.

A R4S B G A 15% . MET [E] R 15 435,

&5 = ¥ 4% 1% 12 B % (Reading Comprehension) , U3 % 4 A 5 T 3CF 44k b 3R B AR
BReeS. BIEEY 800 1A,

243 T3 B 3C 2 AR DL — R B A R (RL L SCfk RS VBV EROAE) N
£, thf FE 1 BB R P ST A IE IR DB B U A R, KN AR R F L
A PR

B AR R BB S B AL R F(RABER) PR ERER"H S BREXR
FE BT B0 5 BE 35 B AN “IRIC 22 7B b 2 500 A B9 TE R 5 R SR E AR W R m R R N A IR T(E
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O ITHBRMBEENEEMKE;

@ ERIBEFPHNBLMEEHY;

Q HMIER LT XHBHER;

@ TREER BB SEMWA;

© MRHE b SCIE A 2R % A 1R i B R

TIRER LS8,

@ #HITE B,

A ER S A3 7 B4 35 % . MR AT ] Ky 40 434,

55 VO EB 43 2 B 1% — D2 %X (Translation—English into Chinese) , A 2 A B 9L iE T
WP AR DUE BBE S . BT bR ) RS A — M N A (Y 60 %) 1 52 F
A (Hyh 4096 5 BTt B 1R PR T (S A B SR ) “JA0IC 7B £ (2 500 1) B i [l .

ARG B 20 % . R A E) K 25 434,

54> R E M/ iFH (Writing/ Translation—Chinese to English) , filiX & 4 EE
JS7 P4 S LS S0 3R MG B R 1R A Y S M SO I BE

AERGT 3B B4 15% . R AT ] R 25 434,

B 2% L MHA T B | N A K i ] 4 e A & BT .

8| WAmE | EE S m A | WA

1| whmm | 1-1s i 2 S ST 15% | 15 414

I | #sh | 16~35 [ mns AnEes LTk B 15% | 15 460
- P

U | mmm | Someo | FRSERMMMMERE | e s W | sy |0
HIHE

N | ®BER | 6165 | HFMEH Lk B B 20% | 25 260
R PR S O e

V |Be/misn FERMGR EBS R | BT BE WEREE | 15% | 254k
I B 9% /4 S B %

&3 65+1 100% | 120 434%h
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BEHETHESHE MM OCERE S HE LB AR EAER), ST E N
FI8E %38 A BB AEW 11 b Rk B T 5 ER . AT B A S0l 5535 3 A
CEM T B R EVER GEERE (e 120 WA A I EMEMA KR E R RE, B
ff FAIER

W 7 B A 0 8 2 A 3 A0 T VT T 4 L 4 1 R FRT 8R4 SC R BB T L AR T U AR 3 I R
A ER R ELARAS B BRAR T T AR B UL TE A ZIA) 06 R 55, I #FE B BT T A ORE G B 3
HNZALH %A S M PR N A R AR FCIEATR DA K 3 400 18 K 75 B,
B 9 25 95 B A B SR ) e i) “ 32 o 1 L 227 i 371 £10) 4 R T 5 51 L

FRHE S it 4RI S, A S (T 7 BE A 3R 4 4t 15 /N, 1943 o5 B4 1500, B[]
15 4340, 4> 345, %5 1 95 (Section A ) EXTif, 4% 5 B, 4% 5 A X &, BHA —F—
4 3 (8] 1 18 4 AR, 458 R — 3 , R 2 A B A P AR 4R B0 [R) R AT 1] B 5 2R N
Section B )24 1%, 3k 5 B, B WA SIS, B A R FRE , B R A X 15 N A 52 A0 a3
HATEE, B 1.5 2 FAREREE. 4 3 7 ( Section C )& H4E 3, WM. Wik
XA RE SR RE S, BoR B AR IE TR RS, I ERETHAHLFRR. 54
7] R

Z. WWARK sk

W B R R E R MR SESE A, BT PFERE S CEiICRE B
AN EEE R B AU B & BEWMIES &M, AR XHERFR, BN ER
& FhRLR B B L HE X RS B AT IR0 KB RS EFLEE T,

1. REWS, BB FK

Wr H B G E A B 15% . T HRERENE —Ho . BENEFAREHERLWE £
HOE . EREEEENTFR. BFNOSEERMEBEZESTRFE.

2. YMEEAL, 32 A7 T

& A= 17 ) FE 0 BT AN % 75 4 ( Directions ) Y B[] , R B 98 3% 35 4 B 28 T, 4 47 42
BT, M b A B . W S ERAR R S 3SR BT R — R — A SE R Y AR L (R R SE T
PEE— R, SERRIREA XA, Kb — DR XA HERINFLEEIIEN
TEMKIER ENESTE F A BREERET ., XU EFETEREAR SR BITHERER
AT, Hh B E KR A SR E R RIE T, BRATAT URBUE A 4
B EBERNE ., RATDIF S g S ) AR 5 T 58 T00, - 3 10 1 47 T00 , 344 b By I 21 )

e 5
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XoF 8 VAR ST PR 7 KR BB R S

3. EHitiL,#raie

Wy 3 T XA A5 A8 4, T LA [ 30 S SR B4 7 B B, X R R AT S v SR AT T
A XERREELAREICE. VHatA B A HUE 25 X L2, 7T UBRAMEIZ B
B R 1 R — S ] N 48 48 SR IR A0 T B R AR IR 12 AT H UL wh-
questions, B ¥ & | #) A 4 (who) . Z 4 (what) | B} [ (when) | # £ (where) | JE A (why)
VA K # B (how long, how soon, how much, how often) . ${5 (how many, how much) .
W (which) A8, 4 3CH B FF B FIT B B 1 B 0 SO N A O BESS , T 45 B T 2 X /Y
B O  XEHMEMEESE MR LR, BEBRETXPH but HIFTW A E L
B 5] B T TE .

DR ERIL,AHE. AZ WMEHE-INFE., AASSAMEETUARKREE
CHEE. FERARSIWEERR; . WAL L. A G . EH%. RAGSWRZ,
In:? —question; =-—equal, is like, the same;—not equal, is not like,different; >—
greater than; <{—less than; "’ —because; .".—so; e. g.—for example; C19—19th
century;u—you %, HEHEEIPAAUHEHRSIA, BN FEEZRHARDHESE
B HAEHERLHE RN FUAREEM, L EEHCHBRAR, RaeHRET.

4. BHER . MEXR

KANVE 1 25 £V S 38fRet, SRS —/A1E .8 — 0, X 78 Eat Il g b
R— AT IE BEFSRPHRLATIT., MEA — N RIERTE, O R4
B LREHMEBRFEEEEHOERE. RITMESHE . BB, H AR, ik
FAEEMEY MEBEOXBITE. URELAMEES. 5B E T b A
BANAKER L EESREXRANIIA L., xS0 RESE 215 S P
B, BA —ERET T — L% A E AR F B RITERRIBEONE Sk
EHEZERRR . BEIRIENEN THRERE,

=. 3}iF (Section A) ik 3 I5

£ A BT SR XHE IS B T A A ES R E 24, I B R S A R
ZHAROLR X E Z ANWPHE N 2R, 7E TR 8B, Kk 2R L wh—word 3| S
FEIRSE R . B X A LR B AT S ST W LA A B B A L R
By B P E RS B, AR (R S0 LR, H R LR A
K%,

L itEma

HRHEMESFLHMERNZ —, XIRBRANESITELENEBSKEE X,
W B 55 2 B TR 2 M 4% 0 s 18] 1 A3, % [ £ 82 () B 2

D What is the exact time now?

@ How much does the man finally pay for the tickets?

@ What is the woman’s telephone number?

@ How many. ..

® How old...

v § &
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® When...

S B, 33 24 R A ) R AR 4 AT O SR AR R BT SR B H BT, T B SR % A AT R
HEE . EENFE SR A EERAE R, WA LA TFHET T X B R %
A 7T A BE B AR e A E PR B B, NEIE TR FRIMAA LR R, HAXHA RR#AT
EREHMAHE, Yie. FARERLAAMEN A, —EEXN S AR,

i :2002 4 6 A H&

W. Tickets are six dollars for adults. Children’s tickets are half price.

M. OK, I’d like two adults’ and three children’s, please.

Q: How much does one child ticket cost?

A. Two dollars. B. Three dollars.
C. Four dollars. D. Five dollars.
Wt i, RATAT S E B REREBER.
2. BREBEM

B R R A A R A AR . FEMCETE D, BIEE A ERKE
B, TR % A 7E T X HE 0 2L b L AR AR IR B N A LTI A OB Ok HEAT HE BT, 2 T 45
M. ®ARREREXD.
(D What does the man / woman mean?
(@ What does the man want the woman to do?
® What do we know about the man?
@ What did you learn from the conversation?
® What did you learn / know about?
® What can we conclude from...?
@ What can be inferred from. .. ?
(O B TR A R SR B O R A XHE L IR BAF AR S ULIE E IR ERE.
Wi R, — MRS B B 2 X RSO 2 SR ) ot BR AR R T R, BT LABER %
H B XM A RS BUE . RE LT SCGHATSR A A9, &R U g
512001 4 12 A &
M. Shall we go to the cinema after dinner, Jane?
W. I’d love to, but I have a report to write.
Q: What does the woman mean?
A. She will go to the cinema.
B. She has to read a report.
C. She has to work.
D. She’d rather stay at home.
REXHER A, BRI E C RIEWMESR.
3. HwrAA
S D T 7Y 2 SR S A AR R X P A TR B — A ERULAS & A 5 B B SR B IR, 4 BT R B
%A B b L RTE R B IRIEDUT KR RIS HIE S . WA BR A0
o 7 %
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(@ What is the most proper relationship between the two speakers?

@ Where does this conversation most probably take place?

@ What do you think the man doing?

@ What does the woman offer to do?

® What prevents the woman’s husband from traveling long distance?

BIB9S 2 A AR ot 78 v 4 56 B 10 SFe 3 7340 8, J9F LA % A 7 TR 0 3 7 o
— R B X 7 T (Y M5 B . A B E — X IE o L T RS B 2 A AR HE T )
) TR LS4 A7 T A ) ) BT 6 4%

#1]:2002 4E 12 A E5

W Sir, I”ve come to complain about the skirt I bought in your shop yesterday.

M. What’s the matter with it?

Q: What is the probable relationship between the two speakers?

A. Boss and secretary. B. Husband and wife.
C. Salesman and customer. D. Doctor and patient.
RIEXTERNE, ROTT UM E C REREE.
4. ARXZA

B REAY — AN T T I PR 5 25, T 425 SR AR A 1) K o S o — 7 B S S 4 o ()
73— JT AT K o AR e O R U B R R RS R TR I o B E R R,
A4 R e =X tn .

@ Why does the man want to wait for the 5:35 bus?

®@ Why didn’t the woman buy the coat?

® Why doesn’t the woman place an order?

S 2AS 1) R — e 1 0 S R AT 4R 09, BT LA % A i 3 1 I S FE S BN . ZE DR 1Y
[F] of 2 i REA 4 5 0 A0 O A S BRI 81 B ML TE 0 ) 2 4%

B :2004 4% 6 A B

M: T hear you are moving to a new apartment next week?

W: Yes. My roommate plays the radio all night long, and I can’t sleep well.

Q: Why is the woman going to move?

A. Because she likes to live near a playground.
B. Because the new apartment is cheaper.
C. Because she needs a quieter place.
D. Because the present apartment is too small,
HRYEXF 1% H ) plays the radio all night long, can’t sleep well, #A'TA] LA # % # 52 4 J& A
= C,
. £1& (Section B) {7 it # 15
REMIHNEIF AT L, FEUH WAGEPHSR Y E, G TEiE. [ w1y,
RVE TR RIS . (AR K 5 40 ) A 5 R
U X R B BN A
o 8 =



% =3y THRRBE T

@ TEAOtE A BAT  BLHT i a1 0 — T R A S0, 1 B 0 R E R R R AT 4
B THEAHIT.

@ ZEWT BB , B KR TR O HESR .

@ BEMUIFEID. AT LR BT VT B 6915 8. . A et X — S (A i A A
Ve BT %

@ T 1) A, 1) O ) ABE 4 O - S W R B A L 7 DA B At AT 2 (B B R
R ATE N R AR EE SR AT

#1:2003 4F 12 A H&

W. We’d like to make a trip for a long weekend holiday, please.
M. Where would you like to go, Madam?
W Dalian.
M: And where do you want to stay in Dalian?
W. We’re not sure. Which hotel would you suggest?
M. The Holiday Inn is very good. And it is quite cheap. I’d recommend that you stay
there.
W: OK. That’s what we’ll do.
M: Would you complete this form, please?
W. Is it all right if we pay check?
M. Of course, it is quite all right.
Q6: What is the woman talking about with the man?
A. Going shopping. B. Staying at a hotel.
C. Taking a trip. D. Buying a book.
Q7: How will the woman make the payment?
A. By check. B. In cash.
C. By credit card. D. By mail.

Q6 417 : to make a trip, Dalian

2 J R S A T B SR O] , AN TE At AT TR IR FT B AE 1 AR B 2% iR i ) [ R, AN XE AR B 1E
WEE C,

Q7 <481d]: pay by check, all right

A R B A T B S AR A g AT LURAMS B IER B R A

F . 5532 (Section C) M ik #5115

SRy BT R R — R S A AN A, B R B SR A — A s R R
SEAFEEE . SR EER L B 8] R B R AR E MR SO . XA E B
BEK, W R ERIMERE K, % 4 008 B T A R AR RS U B A IeE EEE T,
AR T 4815 BR AT AW MMM E R R . 7] LAA B A E % 255 A4 i 5 A BB 7, T ik
B MBS .

R 3X 2 R B X 3R

O FEHRIERIFIHZ A0, 30F 2 75 3 s 4 00 58 i 8] 22 4 B B 5 2 308 SCF 41

o1 G e
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I

Bk 38 32 7] R, A ) R B T 4 W B R L ot BT A A B AT 4

Q@ INEWES —B, TRXENERERE. EEREACHNME . FHATEL2EN
B NGRS, A BT TR b W R 0l R BT VT K 0 T A B R 4R

@ EAXW LW HFHFERT, AT A AEICH T RNICRERNE ., FWT R —Hnf E
HFHRIS .

@ WMRBRFK—-SHROANFRITER SR, BHZEFRARIESE — B A EN R B
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Directions: This part is to test your listening ability. It consists of 3 sections.

Section A

Directions: This section is to test your ability to give proper answers. There are 5 recorded
questions in it. After each question, there is a pause. The questions will be spoken
two times. When you hear a question , you should decide on the correct answer from
the 4 choices marked A, B,C and D given in your test paper. Then you should
mark the corresponding letter on the Answer Sheet with a single line through the
center.

Example: You will hear: Mr. Smith is not in. Could you please give him a message?
You will read: A. I’m not sure. B. You’re right.

C. Yes, certainly. D. That’s interesting.

From the question we learn that the speaker is asking the listening to leave a
message. Therefore, “C Yes certainly. ” is the correct answer. You should mark C
on the Answer Sheet with a single line through the center.

Now the test will begin.

1. A. A pound of tomatoes, please.
B. You can’t do anything for me.
C. Please do it for me.
D. I can manage it myself.
2. A. It’s good. B. Just so-so.
C. It’s our pleasure, D. I’m glad you enjoyed it.
3. A. I’m pleased. B. Never mind.
C. Yes, of course. D. I could.
4. A. No, I won’t sign. B. No, with pleasure.
C. Yes, I can see it. D. Yes, thanks.
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5. A. The same to you. B. That’s all right.
C. Me, too. D. Nice to see you.
Section B

Directions: This section is to test your ability to understand short dialogues. There are 5
recorded dialogues in it. After each dialogue, thereis recorded question. Both the
dialogues and questions will be spoken two times. When you hear a question, you
should decide on the correct answer from the 4 choicesmarked A ,B,Cand D given
in your test paper. Then you should mark the corresponding letter on the Answer
Sheet with a single line through the center.

. Go to the concert. B. Work in the office.

Stay at home, D. Attend a party.

Customer and saleswoman. B. Husband and wife.

Patient and doctor. D. Teacher and student.

. Her mother took her to hospital.

Her mother was ill.

She went to see a friend.

She had no class.

. The man will take a flight.

The man will leave at once.

The flight will leave at 2:30.

. The flight will be late.

10. A. It’s on the right of the man.
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B. It’s far from Rose Street.
C. It’s on Rose Street.
D. It’s around the next corner.
Section C
Directions: In this section you will hear a recorded short passage. The passage is printed on
the test paper , but with some words or phrases missing. The passage will be read
three times. During the second reading , you are required to put the missing words
or phrases on the Answer Sheet in order of the numbered blanks according to what
you hear. The third reading is for you to check your writing. Now the passage
will begin.

Recently, a well-known man said that teaching one’s wife to drive a car was a difficult
job. He said it was the worst job he could think of. However, no one has 11 _ that women
cause fewer accidents than men do. We hear hundreds of suggestions for 12 the number of
road accidents. But men are so unwilling to admit that women drivers are more _ 13 than
men. If more women and fewer men 14  to drive cars, the number of deaths on the roads

would soon 15

. 11 .



